
 

 

 
 
 
 
 
 

1. Write five rational numbers which are smaller than 2. 

Solution: 
20 

The number 2 can be written as . 
10 

Hence, we can say that, the five rational numbers which are smaller than 2 are: 
2 

,  
5 

, 
10 

10   10  10 

15  19 
, 

10  10 
 
 

2. Find ten rational numbers between 

Solution: 

−𝟐 
 

 

𝟓 

𝟏 
and . 

𝟐 

Let us make the denominators same, say 50. 
−2 

⟹ 
−2×10 

= 
−20 

5 5×10 50 
1 

⟹
 1×25 

= 
25 

2 2×25 50 
−2 1 −20 25 

Ten rational numbers between and 
5 

= ten rational numbers between 
2 

and 
50 50 

∴, ten rational numbers between 
−20 

 
 

50 
and 

25 −18 
= , 

50 50 

−15 
,
 

50 

−5 
,
 

50 

−2 
,
 

50 

4   
,  

5 
,
 

50   50 

8   
, 

12 
,
 

50   50 

15 
, 

20 

50   50 
 

3. Find five rational numbers between. 

(i) 
𝟐 

and 
𝟒

 
𝟑 𝟓 

(ii) 
−𝟑 

and 
𝟓

 
𝟐 𝟑 

(iii) 
𝟏

and 
𝟏

 
𝟒 𝟐 

 

Solution: 

(i) 
2 

and 
4

 
3 5 
Let us make the denominators same, say 60. 

2 
i.e., 

3 
and 

4 
can be written as: 

5 
 

2 2×20 40 
⟹ = 

3 3×20 60 
4 4×12 48 

⟹ = 
5 5×12 60 

Five rational numbers between
 2 4

 
 

 

40 48 and 
 

  

3 
and 

5 
= five rational numbers between 

60 60
 

∴, Five rational numbers between 
40 

and 
60 

48 41 
= , 

60 60 

42 
,
 

60 

43 
,
 

60 

44 
, 

45 

60   60 

,
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and

,

(ii) 
−3 

and 
5

 
2 3 

Let us make the denominators same, say 6. 
−3 

i.e., 
2 

and 
5 

can be written as: 
3 

 

−3 −3×3 −9 
⟹ = 

2 2×3 6 
5 5×2 10 

⟹ = 
3 3×2 6 

 
 

−3 5 

 
 

−9 10 
Five rational numbers between 

2 
and = five rational numbers between 

3 6 
and 

6 
−9 

∴, Five rational numbers between 
6 

and 
10 −1 2 

= , , 
6 6 6 

3 
, 

4 
, 
5 

6   6   6 
 

(iii) 
1 1

 
4 2 
Let us make the denominators same, say 24. 

i.e., 
1 

and 
4 

1 
can be written as: 

2 
 

1 1×6 6 
⟹ = 

4 4×6 24 
1 1×12 12 

⟹ = 
2 2×12 24 

1 1 

 
 

6 12 
Five rational numbers between and 

4 2 
= five rational numbers between 

24 
and 

24 
6 

∴, Five rational numbers between 
24 

and 
12 7 8 

= , , 
24 24   24 

9   
, 

10 
, 
11 

24   24   24 
 

4. Write five rational numbers greater than -2. 

Solution: 

-2 can be written as 
−20 

 

 

10 
 

Hence, we can say that, the five rational numbers greater than -2 are 
−10 

, 
−5 

, 
−1    5  

, 
7 

10 10    10   10 10 
 

𝟑 
5. Find ten rational numbers between 

𝟓 
Solution: 

𝟑 
and   . 

𝟒 

Let us make the denominators same, say 80. 
3 

⟹ 
3×16 

= 
48 

5 5×16 80 
3 

⟹ 
3×20 

= 
60 

4 4×20 80 
3 3 48 60 

Ten rational numbers between and 
5 

= ten rational numbers between 
4 

and 
80 80 

∴, ten rational numbers between are  
ସଽ

଼଴
 , 

ହ଴

଼଴
 , 

ହଵ

଼଴
 , 

ହଶ

଼଴
 , 

ହଷ

଼଴
 , 

ହସ

଼଴
 , 

ହହ

଼଴
 , 

ହ଺

଼଴
 , 

ହ଻

଼଴
 , 

ହ଼

଼଴
 



 

 



 

 

 



 

 

, 
 


